FRIIEE B2l FUCEERR

HMBHAOFEVIFRES ERL194E05 8278 (A)
B fEAE] iz K4 & R iz K4 & e iz K4 i e i K4 & e
B [—#&(278[ 100m 1 R B #MEXRKX 10.81(+3.0) 2 BN BET¥ #E 11.23(+1.5) 3 HOBET [IEBEEPN 11.39(+3.0) 4 AF BELFEX 11.72(+1.5)
F | B 5 MR i BEXRKX 11.96(+3.0) 6 Bt HBIEKR 12.00(+1.5) 7 2 HE 12.32(+3.0) 8 BIE %E  #E 12.96(+3.0)
200m 1 R¥F HBE WX 23.85 2 RIA R = 26.56 3 FE B BB 27.40 4
B:+34 |5 6 7 8
400m 1 B/E F¥ WEX 51.59 2 fi BEX  #ES 54.40 3 #F PR HIFEOXE 61.18 4
5 6 7 8
800m 1 2 3 4
5 6 7 8
1500m | 1 meREXE HE 4.14.02 2 ERK #EE 4.17.28 3 AR S#t BE 4.28.13 4 B FE  ErHEX 4.28.55
5 MR BB BB 4.34.47 6 it #& = 4.39.94 7 N S = 4.45.25 8 I RE HE 4.58.72
110mH | 1 2 3 4
5 6 7 8
400mH | 1 2 3 4
5 6 7 8
=#-85 #5 45.15
1 2 3 4
4X100mR R ]
5 6 7 8
EEH |1 XkE HE  dHmK 2m05 2 IO R #HBEXEKX 1m75 3 BE B #E8 1m70 4 FE BI H#E5 1m45
5 6 7 8
EERE | 1 HET HBIEKR 6m63(+1,2) 2 Tk ME  PERX 6m29(+2.9) 3 28 F— HERX 6m25(-0.2) 4 = A #S 6m01(+0.5)
5 a8 ® HE 5m79(+0.4) 6 BT BR HEE 5m34(+1.1) 7 8
ZBH |1 = A HE 12m80(+23) | 2 BT BR  HE 11m50(+1.4) 3 4
5 6 7 8
e |1 2 3 4
6.0kg 5 6 7 8
Al |1 AT Bt #HEXRK 9m74 2 Bl B— HEBEXEK 9m73 3 4
7.2kg 5 6 7 8
Mm% |1 EE BRHEE 41m90 2 HE B HS 37m66 3 B T BB 30m04 4 tZE 8 HE 11m12
1.5kg 5 6 7 8
mEE |1 AT Bt #HEXRKX 30m46 2 Bl B— #MEXEKX 29m91 3 4
2.0kg 5 6 7 8
PYH 1 ER T BB 42m60 2 B #iE  #E 39m71 3 88 ® H#HE 37m22 4
5 6 7 8
thz[278]  100m 1 i B  KAAC 12.78 2 3 4
B+15 |5 6 7 8
200m 1 Wi 18 KAAC 25.72 2 AE #E KAAC 26.65 3 BEH 5B KAAC 29.81 4
B+27 |5 6 7 8
400m 1 2 3 4
5 6 7 8
1500m | 1 2 3 4
5 6 7 8
110mH | 1 2 3 4
5 6 7 8
1 JLim- i [ KAAC 50.26 ) 3 4
4X100mR LN
5 6 7 8
EE |1 Wit 1 XBAC 1m65 2 3 4
5 6 7 8
EEsk | 1 I i & XAAC 5mB0(+3.5) 2 AE #E KAAC 5m48(+5.9) 3 s =B KAAC 4m62(+2.0) 4 ED Mt KAAC 3m44(+3.6)
5 6 7 8
g |1 2 3 4
5 6 7 8
MN[278]  100m 1 Tk EF  KAAC 13.16 2 | IMHKIEXRER  KAAC 14.02 2 A BE BIRAC 14.69 4 EE FA #HEAC 16.49
m+36 |5 RIE —H  #BWAC 17.79 6 Mk 8AH  BIRAC 18.78 7 8
1000m | 1 2 3 4
5 6 7 8
1 2 3 4
4X100mR
5 6 7 8
EE |1 A BE BiRAC 1m15 2 EE FA #HEAC 1m05 3 4
5 6 7 8
EERE | 1 A BE BiRAC 3m58(-1.9) 2 RIE —BE  #EAC 2m55(+3.5) 3 Mim A8 BIRAC 2mb53(+2.6) 4 RIE Bt  #HBEAC 2m37(+1.9)
5 6 7 8
A=t | 1 BEE A #HEAC 35m47 2 A BE BIRAC 29m32 3 RIE —BE  #REAC 23m52 4 Ak BAR  BIRAC 22m14
5 RIE 2Bt #BEAC 13m61 6 7 8




FRI19FEE F2EPEUNCLRE

MBI OEVIFRRIS ERk195E5H27H (B)
=] #R fiz K4 E EREES fiz K4 E EREES fiz K4 E EREES fiz K4 E EREES
% |—f&| 278 100m [ ENEY 5 E PN 1248(+1.0) | 2 | K& Rz #MBXHK 1250(+1.5) | 3 | MR FI #MBXHK 12.83(+1.0) 4 AR ME #HMBEXEK 13.05(+1.5)
F | B 5  #HASPHh HE 1315(+10) 6 1k WX H5 1344(+15) 7 HHF EK HE 1360(+15) 8 fH ME HE5 14.10(+1.5)
200m 1 TR 5  WMBXHK 26.56(+2.5) | 2 @ MR FI HMEBXEK 26.66(+2.5) | 3 @ I} EK HF 28.25(2.5) 4 | X% FS #S 29.85(1.3)
5 ®F X #5 30.14(+13) 6 7 8
400m 1 wih EF  #S 62.07 2 | WiE BE #MEBXEKX 64.59 3 | BIE HME #MBXEK 66.38 4
5 6 7 8
800m 1| FimhEE #HEXEX 2.26.05 2 | MR B KAEXHES 2.40.42 3 I FEE #MEBXEK 2.42.20 4
5 6 7 8
1500m 1| BR FF HS 5.18.20 2| MR Bt KAEXAHES 5.25.62 3 | FMHEIL H#HE 5.34.93 4| BAX BE #5 5.54.99
5 HNHFFLH #HE 6.03.91 6 EHR #E HS5 6.11.08 7 EBREXRY HE 6.31.52 8
100mH 1 EF HS 15.04 2 | BRE EB¥ HZ 26.30 3 4
B:+06 |5 6 7 8
400mH 1 I EF HS 66.01 2 wih EF  #S 66.69 3| kE BME HE 76.32 4
5 6 7 8
| | ERINME B 51.37 9 3 .
4X100mR CEAR L ES
5 6 7 8
Eodk [ 1 BE mx HZ 1m40 2| =BT #E Hs 1m35 3 4
5 6 7 8
EEBE [ 1] B K #SMEXEX 5m33(-15) | 2 | XEE *xF #HS 5m03(+1.3) | 3 | BT W #EHS 4m53(+0.6) | 4 | Mk BE HMEXRK 4m43(+1.4)
5 MAHEZ XKAELAKMES 3m20(+0.1) 6 7 8
ZBH [1 XE XA HS 10m33(+1.4) | 2 3 4
5 6 7 8
At (1] ftA BE H5 8m64 2| MR ETF HE 7m28 3 | EDREE HE 6m34 4
40kg | 5 6 7 8
AEE |1 s BE  Es 25mo01 2 | EORIE HE 17m76 3 4
1.0kg. 5 6 7 8
Y 1 I BE EHE 21m00 2 IR EF HE 20m82 3| TEH BE HF 19m24 4 REEMF #5 18m62
5 MEGEOH KABRKHMES 17m48 6 7 8
| 278 100m 1 EREFD #HBAC 1416(+15) | 2 /MUDHEE KFAC 14.34(+10) | 3 4
5 6 7 8
200m 1 2 3 4
5 6 7 8
400m 1| B HIF KHAAC 74.46 2 3 4
5 6 7 8
1500m | 1 2 3 4
5 6 7 8
100mH [ 1 2 3 4
5 6 7 8
1 2 3 4
4X100mR
5 6 7 8
E=msk [ 1 k% B2 KAAC 1m30 2 3 4
5 6 7 8
EMEBk [ 1 kB B2 KAAC 4m24(-1.9) | 2 | EHEEFD HBAC 3m74(-03) | 3 4
5 6 7 8
Ak |1 2 3 4
2.7kg 5 6 7 8
INE| 278 100m 1| K#HEmRE KHAAC 14,19 2 | BE RE KAAC 14,96 3 | /I HEE KAAC 15.68(+5.1) 4 BT FEZHE #HBEAC 16,67
E+5.1 5 REX BHE KHAAC 16,78 6 =T Fil #BAC 19,85 7 8
800m 1 2 3 4
5 6 7 8
80mH 1| /h# BEE KHAAC 16.67 2 | K #&K KAAC 17.04 3| A BHE KAAC 17.05 4| BT Fl #BEAC 21.35
B:+5 [5 6 7 8
1 - K#E (KBAC 62.24 9 3 4
4X100mR AK-BE
5 6 7 8
Empk [ 1 2 3 4
5 6 7 8
EEEE [ 1 BT EERE #BAC 3m17(+16) | 2 3 4
5 6 7 8
A=k [ 1 BT EE #HBAC 21m85 2 | =T _FIW_#BAC 18m07 3 4
5 6 7 8




